

BINDOON PRIMARY SCHOOL

KINDERGARTEN PERSONAL ITEMS LIST 2024

SURNAME: _____ STUDENT'S FIRST NAME: _____

CONTACT NUMBER: _____

- Tick "Full Order" box if all items are required. OR Rule through any items NOT required (please rule right across the page).
- Return list to School by Thurs 14th December 2023. (orders placed after 15th Dec will be charged normal retail prices).
- Your order will be available for collection from 10th January at Bindoon General Store. **Please pay in full** when collecting your order.
- Teachers have chosen particular brands as they good quality and last longer than cheaper substitutes.
- Consumable items will need to be replaced throughout the year.
- There is no need to label these items with your child's name.

Quantity Required	Item	Your Order	ltem Cost	Total Cost	Adjusted Total
2	Scrap Books – Mega		2.80	5.60	
2	Staedtler Triplus Jumbo Lead 2B Pencils		1.60	3.20	
1	Faber-Castell Junior Triangular Extra Thick Colour Pencils		6.80	6.80	
4	Bostik Blustik 35 gm		3.80	15.20	
1	Tissues (200's)		2.60	2.60	
	TOTAL OF ORDER			33.40	

Bindoon General Store are proud supporters of Bindoon Primary School

Please note all the above prices include GST.

PLEASE TICK THIS BOX IF YOU REQUIRE THE TOTAL ORDER

ESSENTIAL ITEMS:

Diary\$5.00 (Purchase from School)Library Bag & Carry Bag (recycled)School Hat\$15.00 (Purchase from Uniform Shop)School Satchel\$15.00 (Purchase from Uniform Shop)

VOLUNTARY CONTRIBUTION:

Year K-Yr 6 \$60.00 per child P & C Voluntary School Development Fund \$40.00 per family

-----×-----×------×-------

PERSONAL ITEMS REMINDER



BINDOON PRIMARY SCHOOL

PRE PRIMARY PERSONAL ITEMS LIST 2024

SURNAME:

STUDENT'S FIRST NAME:

CONTACT NUMBER: _____

- Tick "Full Order" box if all items are required. OR Rule through any items NOT required (please rule right across the page).
- Return list to School by 14th December 2023. (orders placed after 15th December will be charged normal retail prices).
- Your order will be available for collection from 10th January at Bindoon General Store. **Please pay in full** when collecting your order.
- Teachers have chosen particular brands as they good quality and last longer than cheaper substitutes.
- Consumable items will need to be replaced throughout the year.
- There is no need to label these items with your child's name.

Quantity Required	Item	Your Order	ltem Cost	Total Cost	Adjusted Total
2	Texta Zoom Crayons 12's		7.00	14.00	
2	Staedtler Noris Maxi Learner 2B Graphite Pencils		1.20	2.40	
6	Bostik Glue Sticks 35gm		3.80	22.80	
1	Scissors (Sovereign Purple 165mm)		3.80	3.80	
4	Scrapbooks Mega		2.80	11.20	
1	A4 Clip Folder		4.50	4.50	
1	Display books A4 clear cover		2.00	2.00	
1	Whiteboard Markers Artline Lumocolour x 4 2mm		11.00	11.00	
1	Paper Towel Roll		2.50	2.50	
	TOTAL OF ORDER			74.50	

Bindoon General Store are proud supporters of Bindoon Primary School

Please note all the above prices include GST.

PLEASE TICK THIS BOX IF YOU REQUIRE THE TOTAL ORDER

ESSENTIAL ITEMS:

Diary\$5.00 (Purchase from School)Library Bag & Carry Bag (recycled)School Hat\$15.00 (Purchase from Uniform Shop)

VOLUNTARY CONTRIBUTION:

Years K-6 \$60.00 per child P & C Voluntary School Development Fund \$40.00 per family

-----×----×-----×

PERSONAL ITEMS REMINDER





BINDOON PRIMARY SCHOOL YEAR 1 PERSONAL ITEMS LIST 2024

STUDENT'S FIRST NAME:_____

SURNAME:_____ CONTACT NUMBER:

- Tick "Full Order" box if all items are required. OR Rule through any items NOT required (please rule right across the page).
- Return list to School by **14th December 2023.** (orders placed after 15th December will be charged normal retail prices).
- Your order will be available for collection from 10th January at Bindoon General Store. **Please pay in full** when collecting your order.
- Teachers have chosen particular brands as they good quality and last longer than cheaper substitutes.
- Consumable items will need to be replaced throughout the year.
- There is no need to label items.

Quantity Required	Item	Your Order	ltem Cost	Total Cost	Adjusted Total
2	Pencils Pkt 12 Coloured Columbia Colour Sketch		4.80	9.60	
1	Texta Zoom Crayons 12's		7.00	7.00	
1	Pencil Case - Large "John"		5.90	5.90	
1	Wooden Ruler		0.70	0.70	
1	Eraser Large Rasoplast		2.00	2.00	
4	Bostik Glue Stick 35gm		3.80	15.20	
1	Scissors (Sovereign Purple 165mm)		3.80	3.80	
10	Pencils HB (Faber Castell 1900 NLA) 1111		0.50	5.00	
1	Display books A4 clear cover		2.00	2.00	
4	Scrapbooks Mega		2.80	11.20	
1	A4 Clip Folder		4.50	4.50	
1	Whiteboard Markers Artline Lumocolour x 4 2mm		11.00	11.00	
1	Tissues (200's)		2.60	2.60	
1	Paper towel roll		2.50	2.50	
	TOTAL OF ORDER			83.00	

Bindoon General Store are proud supporters of Bindoon Primary School Please note all the above prices include GST.

PLEASE TICK THIS BOX IF YOU REQUIRE THE TOTAL ORDER

ESSENTIAL ITEMS:

Diary\$5.00 (Purchase from School)Art Shirt (an old shirt from home will do)Library BagSchool Hat\$15.00 (Purchase from Uniform Shop)School Satchel\$15.00 (Purchase from Uniform Shop)

VOLUNTARY CONTRIBUTION:

Years K-6 \$60.00 per child P & C Voluntary School Development Fund \$40.00 per family

-----X-----X

PERSONAL ITEMS REMINDER



BINDOON PRIMARY SCHOOL YEAR 2 PERSONAL ITEMS LIST 2023

SURNAME:

STUDENT'S FIRST NAME:_____

CONTACT NUMBER:__

- Tick "Full Order" box if all items are required. OR Rule through any items NOT required (please rule right across the page).
- Return list to School by 14th December 2023. (orders placed after 15th December will be charged normal retail prices).
- Your order will be available for collection from 10th January at Bindoon General Store. **Please pay in full** when collecting your order.
- Teachers have chosen particular brands as they good quality and last longer than cheaper substitutes.
- Consumable items will need to be replaced throughout the year.
- Please label all items with your child's name.

Quantity Required	Item	Your Order	ltem Cost	4.00	Adjusted Total
1	Pencils Pkt 12 Coloured Columbia Colour Sketch		4.80	4.80	
1	Texta Zoom Crayons 12's		7.00	7.00	
4	Bostik Glue stick 35 gm		3.80	15.20	
1	Pencil Case – Large "John"		5.90	5.90	
1	Whiteboard Markers Artline Lumocolour x 4 2mm		11.00	11.00	
3	Eraser Large Rasoplast		2.00	6.00	
1	Scissors (Sovereign Purple 165mm)		3.80	3.80	
10	Pencils HB (Faber Castell 1900 NLA) 1111		0.50	5.00	
1	Pencil Sharpener – Double metal with canister		1.30	1.30	
1	Wooden Ruler		0.70	0.70	
1	Display Books (A4 with clear cover)		2.00	2.00	
2	Document Wallets – Foolscap/A4		0.65	0.65	
1	Black Artline (fineliner) .04		2.50	2.50	
1	A4 Clip Folder		4.50	4.50	
1	Highlighter F/C Textliner (packet of 4)		5.50	5.50	
3	Scrapbooks Mega		2.80	8.40	
1	Tissues (200's)		2.60	2.60	
1	Paper Towel Roll		2.50	2.50	
	TOTAL OF ORDER			90.00	

Bindoon General Store are proud supporters of Bindoon Primary School Please note all the above prices include GST.

PLEASE TICK THIS BOX IF YOU ESSENTIAL ITEMS:	
Diary	\$5.00 (Purchase from School)
Art Shirt & Library Bag School Hat	\$15.00 (Purchase from Uniform Shop



\$15.00 (Purchase from Uniform Shop) \$15.00 (Purchase from Uniform Shop)

VOLUNTARY CONTRIBUTION:

School Satchel

Years K-6 \$60.00 per child P & C Voluntary School Development Fund \$40.00 per family

PERSONAL ITEMS REMINDER



BINDOON PRIMARY SCHOOL YEAR 3 PERSONAL ITEMS LIST 2024

STUDENT'S FIRST NAME:_____

SURNAME: _____ CONTACT NUMBER:

- Tick "Full Order" box if all items are required. OR Rule through any items NOT required (please rule right across the page).
- Return list to School by **Thurs 14th December 2023**. (orders placed after 15th December will be charged normal retail prices).
- Your order will be available for collection from 10th January at Bindoon General Store. **Please pay in full** when collecting your order.
- Teachers have chosen particular brands as they good quality and last longer than cheaper substitutes.
- Consumable items will need to be replaced throughout the year.
- Please label all items with your child's name.

Quantity Required	Item	Your Order	ltem Cost	Total Cost	Adjusted Total
1	Pencils Pkt 12 Coloured Columbia Colour Sketch	01001	4.80	4.80	
1	Texta Zoom Crayons 12's		7.00	7.00	
4	Bostik Glue Stick 35 gm		3.80	15.20	
1	Pencil Case – Large "John"		5.90	5.90	
1	Whiteboard Markers Artline Lumocolour x 4 2mm		11.00	11.00	
3	Eraser Large Rasoplast		2.00	6.00	
1	Scissors (Sovereign Purple 165 mm)		3.80	3.80	
10	Pencils HB (Faber Castell 1111)		0.50	5.00	
1	Pencil Sharpener – Double metal with canister		1.30	1.30	
1	Wooden Ruler		0.70	0.70	
1	Display Books (A4 with clear cover)		2.00	2.00	
1	Black Artline (fineliner) .04		2.50	2.50	
1	A4 Clip Folder		4.50	4.50	
2	Red Biro (Bic Medium)		0.65	1.30	
1	Highlighter F/C Textliner (packet of 4)		5.50	5.50	
4	Scrapbooks Mega		2.80	11.20	
1	Tissues (200's)		2.60	2.60	
1	Paper Towel Roll		2.50	2.50	
	TOTAL OF ORDER			92.80	

Bindoon General Store are proud supporters of Bindoon Primary School Please note all the above prices include GST.

PLEASE TICK THIS BOX IF	YOU REQUIRE THE TOTAL ORDER
ESSENTIAL ITEMS:	
Diary	\$5.00 (Purchase from School)
Art Shirt & Library Bag	
School Hat	\$15.00 (Purchase from Uniform Shop)
School Satchel	\$15.00 (Purchase from Uniform Shop)
VOLUNTARY CONTRIBUT	ION:
Years K-6 \$60.00) per child
P & C Voluntary School Dev	elopment Fund \$40.00 per family
×-	××

PERSONAL ITEMS REMINDER



BINDOON PRIMARY SCHOOL YEAR 4 PERSONAL ITEMS LIST 2024

SURNAME:_

STUDENT'S FIRST NAME:

CONTACT NUMBER:__

- Tick "Full Order" box if all items are required. OR Rule through any items NOT required (please rule right across the page).
- Return list to School by Thu 14th December 2023. (orders placed after 15th December will be charged normal retail prices).
- Your order will be available for collection from 10th January at Bindoon General Store. **Please pay in full** when collecting your order.
- Teachers have chosen particular brands as they good quality and last longer than cheaper substitutes.
- Consumable items will need to be replaced throughout the year.
- Please label all items with your child's name.

Quantity Required	Item	Your Order	ltem Cost	Total Cost	Adjusted Total
1	Pencils Pkt 12 Coloured Columbia Colour Sketch		4.80	4.80	
1	Texta Zoom Crayons 12's		7.00	7.00	
4	Bostik – Glue Stick 35gm		3.80	15.20	
1	Pencil Case – Large "John"		5.90	5.90	
1	Whiteboard Markers Artline Lumocolour x 4 2mm		11.00	11.00	
3	Eraser Large Rastoplast		2.00	6.00	
1	Scissors (Sovereign Purple 165 mm)		3.80	3.80	
10	Pencils HB (Faber Castell 1900 NLA) 1111		0.50	5.00	
1	Pencil Sharpener – Double metal with canister		1.30	1.30	
1	Wooden Ruler		0.70	0.70	
5	Display Books (A4 with clear cover)		2.00	10.00	
1	Black Artline (fineliner) .04		2.50	2.50	
1	A4 Clip Folder		4.50	4.50	
4	Blue Biro (Bic Medium)		0.65	2.60	
2	Red Biro (Bic Medium)		0.65	1.30	
1	Highlighter F/C Textliner (packet of 4)		5.50	5.50	
1	Tissues (200's)		2.60	2.60	
1	Paper Towel Roll		2.50	2.50	
	TOTAL OF ORDER			92.20	

Bindoon General Store are proud supporters of Bindoon Primary School Please note all the above prices include GST.

PLEASE TICK THIS BOX IF YOU REQUIRE THE TOTAL ORDER ESSENTIAL ITEMS:

Diary\$5.00 (Purchase from School)Art Shirt & Library Bag\$15.00 (Purchase from Uniform Shop)School Hat\$15.00 (Purchase from Uniform Shop)School Satchel\$15.00 (Purchase from Uniform Shop)

VOLUNTARY CONTRIBUTION:

Years K-6 \$60.00 per child P & C Voluntary School Development Fund \$40.00 per family

PERSONAL ITEMS REMINDER



BINDOON PRIMARY SCHOOL YEAR 5 PERSONAL ITEMS LIST 2024

SURNAME: _____

STUDENT'S FIRST NAME: _____

CONTACT NUMBER:

- Tick "Full Order" box if all items are required. OR Rule through any items NOT required (please rule right across the page).
- Return list to School by **Thursday 14th December 2023**. (orders placed after 15th December will be charged normal retail prices).
- Your order will be available for collection from 10th January at Bindoon General Store. **Please pay in full** when collecting your order.
- Teachers have chosen particular brands as they good quality and last longer than cheaper substitutes.
- Consumable items will need to be replaced throughout the year.
- Please label all items with your child's name.

Quantity Required	Item	Your Order	ltem Cost	Total Cost	Adjust Total
1	Pencils Pkt 12 Columbia Colour Sketch		4.80	4.80	
1	Crayola Markers - Pack of 10		7.00	7.00	
3	Bostik Glue Stick 35g		3.80	11.40	
1	Pencil Case – Large "John"		5.90	5.90	
1	Whiteboard Markers Artline Lumocolour x 4 2mm		11.00	11.00	
2	Eraser Large Rasoplast		2.00	4.00	
1	Scissors (Sovereign Purple 165 mm)		3.80	3.80	
8	Pencils HB (Faber Castell 1900 NLA) 1111		0.50	4.00	
1	Pencil Sharpener – Double metal with canister		1.30	1.30	
1	Wooden Ruler		0.70	0.70	
5	Display Books (A4 with clear cover)		2.00	10.00	
2	Black Artline (fineliner) .04		2.50	5.00	
1	A4 Clip Folder		4.50	4.50	
4	Blue Biro (Bic Medium)		0.65	2.60	
4	Red Biro (Bic Medium)		0.65	2.60	
1	Highlighter F/C Textliner (packet of 4)		5.50	5.50	
1	Tissues (200's)		2.60	2.60	
1	Paper Towel Roll		2.50	2.50	
	TOTAL OF ORDER			89.20	

Bindoon General Store are proud supporters of Bindoon Primary School Please note all the above prices include GST.

PLEASE TICK THIS BOX IF YOU REQUIRE THE TOTAL ORDER

ESSENTIAL ITEMS:

Diary	\$5.00 (Purchase	from School)
Art Shirt & Library Bag	·	
School Hat	\$15.00 (Purchase	e from Uniform Shop)
School Satchel	\$15.00 (Purchase	e from Uniform Shop)
VOLUNTARY CONTRIBUTI	ON:	
Years K-6	\$60.00 per child	
P & C Voluntary School Deve	elopment Fund	\$40.00 per family

PERSONAL ITEMS REMINDER



BINDOON PRIMARY SCHOOL YEAR 6 PERSONAL ITEMS LIST 2024

SURNAME:_

STUDENT'S FIRST NAME:

CONTACT NUMBER:

- Tick "Full Order" box if all items are required. OR Rule through any items NOT required (please rule right across the page).
- Return list to School by **Thursday 14th December 2023**. (orders placed after 15th December will be charged normal retail prices).
- Your order will be available for collection from 10th January at Bindoon General Store. **Please pay in full** when collecting your order.
- Teachers have chosen particular brands as they good quality and last longer than cheaper substitutes.
- Consumable items will need to be replaced throughout the year.
- Please label all items with your child's name.

Quantity Required	Item	Your Order	ltem Cost	Total Cost	Adjusted Total
1	Pencils Pkt 12 Columbia Colour Sketch		4.80	4.80	
1	Crayola Markers - Pack of 10		7.00	7.00	
3	Bostik Glue Stick 35gm		3.80	11.40	
1	Pencil Case - Large "John"		5.90	5.90	
1	Whiteboard Markers Artline Lumocolour x 4 2mm		11.00	11.00	
2	Eraser Large Rasoplast		2.00	4.00	
1	Scissors (Sovereign Purple 165 mm)		3.80	3.80	
8	Pencils HB (Faber Castell 1900 NLA) 1111		0.50	4.00	
1	Pencil Sharpener – Double metal with canister		1.30	1.30	
1	Wood Ruler		0.70	0.70	
5	Display Books (A4 Clear covers)		2.00	10.00	
2	Black Artline (fineliner) 0.4		2.50	5.00	
1	A4 Clip Folder		4.50	4.50	
4	Blue Biro (Bic Medium)		0.65	2.60	
4	Red Biro (Bic Medium)		0.65	2.60	
1	Highlighter F/C Textliner (packet of 4)		5.50	5.50	
1	Tissues (200's)		2.60	2.60	
1	Paper Towel		2.50	2.50	
	TOTAL OF ORDER			89.20	

Bindoon General Store are proud supporters of Bindoon Primary School Please note all the above prices include GST. PLEASE TICK THIS BOX IF YOU REQUIRE THE TOTAL ORDER

ESSENTIAL ITEMS:Diary\$5.00 (Purchase from School)Library Bag & Art ShirtSchool Hat\$15.00 (Purchase from Uniform Shop)School Satchel\$15.00 (Purchase from Uniform Shop)VOLUNTARY CONTRIBUTION:Years K-6\$60.00 per child

P & C Voluntary School Development Fund \$40.00 per family

-----X-----X

PERSONAL ITEMS REMINDER